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Agricultural Economics 429

Fall 2015 Exam #3

1. ________


2. ________


3. ________


4. ________


Total      ________

1a.  (6 pts.)
Evaluate this statement.  “The blender’s credit was responsible for starting the biofuel era.”  Your evaluation should include whether you agree or disagree and provide support for your answer.
1b. (8 pts.)
What do you think the Environmental Working Group hoped to accomplish from putting individual government payment data on the internet?  Why did Dr. Outlaw say that putting out individual payments really tell you much?
2a. (4 pts.) 
What is the difference between first and second generation biofuels?
2b. (8 pts.)
Demonstrate both graphically and explain in words who bears the cost of      

COOL.
2c. (4 pts.)
What are a couple of reasons that many observers claim the 2014 Farm Bill is another big step toward eliminating commodity programs in favor of crop insurance?

3a. (6 pts.)
List three factors that affected the 2014 Farm Bill and explain how each factor contributed to passing the bill being so difficult?

3b. (4 pts.)
Why would ethanol industry supporters want a lower acreage cap on CRP?

3c. (6 pts.)
What is the relationship between the 3 entity rule and direct attribution?
Write the letter corresponding to the most appropriate answer in the blank provided: 
______  4a. (4 pts.)  Means testing for government program eligibility:

A. Was introduced in the 2002 Farm Bill for the first time.

B. Is referred to as the “Dennis Rodman” rule

C. Was originally set at an AGI of $250,000

D. Both A and C

E. Both B and C
______  4b. (4 pts.)  The Price Loss Coverage program in the 2014 Farm Bill is very similar to:

A. Direct payments

B. Counter-cyclical payments

C. Marketing loan/loan deficiency payments

D. All of the above

E. None of the above

______  4c. (4 pts.)  Which of the following is NOT a decision that a landowner or producer                                          must make in the 2014 Farm Bill? 

A. Update payment yields

B. Reallocate base acres

C. Choose between ACRE and CCP

D. Choose between ARC and PLC

E. None of the Above

______ 4d. (4 pts.)  Non-Governmental regulations (such as no rBST and cage free eggs)
A.
Has different financial outcomes than governmental regulation 

B.  Is a food safety issue

C.  Increase quantity supplied

D.  Raise the marginal cost for producers

E.  None of the above

______  4e. (4 pts.)  Which of the following is a reason for developing biofuels:

A. Rural development

B. Increase the price of soybeans

C. Energy security

D. Increase the price of corn

E. All of the above
______ 4f. (4 pts.) Class differential pricing for milk:

A.  Raises the price of fluid milk

B.  Indirectly lowers the price of cheese

C.  Increases marginal cost of producers

D.  Both A and B

E.  Both B and C

______  4g. (4 pts.)  Current payment limit laws in the 2014 Farm Bill do not appreciably reduce payments because:
A. Most farms are not large enough to trigger limits
B. Direct attribution works well
C. No limit on marketing loan benefits
D. Both A and C
E. None of the Above
______ 4h. (4 pts.) Class III milk refers to milk that goes into?
A.  Milk Powder

B.  Butter

C.  Ice Cream

D.  Cheese

E.  All of the above

Place a T or F in the space provided based on your assessment of each statement below.  (2 point each)

5a. ______ 
In the 2014 Farm Bill, the only major title that saw a decrease in funding was crop insurance.
5b. ______
Payment limits are not an economic issue.
5c.
______

Texas livestock producers benefitted from the ethanol boom.

5d.
______ 
Whether or not you think payment limits should be tightened primarily depends upon your values.
5e. ______
Biofuels make up the largest component of U.S. renewable energy production.
5f.
______
Cotton is not a covered commodity in the 2014 Farm Bill.
5g. ______ 
First generation biofuels include corn based ethanol and soybean oil based




biodiesel.

5h. ______ 
From the ethanol industry’s perspective, an increase in fuel economy for cars is




negative for the “blend wall”.
5i. ______ 
COOL is still in effect for seafood.

5j. ______ 
Regulation, no matter the form, acts to constrain quantity supplied.

5k. ______ 
Differential pricing for milk is applied to the most inelastic good.

